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answer you consider correct, fill the corresponding drdle A, B, Cor D givenin front of each question with Marker or Pen ink on the answer sheet provided.
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The bond order of N, is b (&) ® 1 © 0 ™ 3

In endothermic reaction, neat content of:

(A) Pfoduct‘is more than that of reastant (B Reactant is more than that of product

(C) surrounding increases (D)  Reactants and products are equal

Which of the following is not a state function:

(A Enthalpy (B) Temperature (C) Work /(6)/_\ Internal energy
Dilution increases the degree of dissoriation, is the statement of which of the following §;W(l prinE@E\

(A Le-Chatelier principle  (B) Law of mass action - (C) Ostwald diluﬁ{n la D) \ ess's law

PH of the soft drink ie: (A 20 ® 30 (C)\\E‘fS‘”“) (5)“71‘.6\\
Molarity of pure water is A (B () 658 o 6

LA

N
Stronger the oxidizing agent, greater sthe: . \\ \“—7 (/\ﬂ\\ >

(A) Oxidation potential (B) Reduction potential (@] Redox%{mial (D)Q \E.\m.f of the cell
u

Which of the following gas is bubbled through standard hydrogen electtade t ane atm&snheric pressure? \\\ //
< "
(A) HCl gas () Pure H, gas ©) Chiorige gas © \ 0

The unit of rate constant is same 5 :‘W;‘%ﬁon in: /\/
‘ (D) it Qrder Reaction

(A) 1st Order Reaction (B)/ ond Order Reactisp (€} erX{/O/r,de’r Reaction

~ T2

The mass of 10 moles of electrons it 7> /

(A) 10.08 mg ®) ! 55m € (D) 16.73 mg
4 . The number of moles of €0, whic! Eontains 16 g of oxygen \

(") 0 mdles ®) 0.50 moles © / \xo moles ) 3.0 moles

A complet quantitative eterminatiun generally consists bf ho r/rfany steps?

(A \\(B) 5 steps (C) /’/ 25teps (D) 6 steps

Pressure remaining -onstant, at\ Which temperature the vo urne/gfa/gas will becorhe twice of what it is at 0°C

(A) 546°C B \\\ 200°¢C / € 546 k (D) 273k

The scientist who identified plagma is: LY '

(A William Crookes (x Vandér Waal (€ Rutherford (D) Boyle

B
When water freezes 4t 00C, its de\@ reases due to:

(A)  Cubic structure of ice (B)  Empty spaces present in the structure of ice

(C) Change of bond lengths (D)  Change of bond angles
Total number of Bravias lattices ars: n 7 ® 10 € 12 oy 14

The nature of positive rays depentis upon:

(A) The nature of electrode (B)  The nature of residual gas
(Cy The nature of discharge tuke oy The jength of discharge fube
L 33-11-A-
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SECTION w111 ~—223
2 \rite short answers of any vight parts from the foliowing: (8x2=16)
i, Why Isotopes of same elemenii Show siilar cherriical properties?
i, Prove Nyand GO have the saine number of lectrons, protons and neutron.
i, Define molecular fon with exainples. iv.  What is AH®f? Give one exarmple.
v. Why gases behave non ideallv at high pressure and low tamperature?
Vi, What are the two faulty points of KM1? vii,  What s plasma? How itis formed?
vil.  Whatis Zeeman effect? in.  Why positive rays argm/mﬂn—eﬁs\canal rays?
« The e/m value of positive rays for different gases is different? Justify it /’/‘(\\ \\
Ji Define Lattice Frergy? Give example. xil. What s state fyhction? Give any\wo exarmples.
5 Write short answers of any 2ight parts from ihe following: L S (8x2=16)
i, Define ppm and give its math smatical formuta? i ‘*;.t&tg, Raoult's 2 v \\\
i, Elevation of boiling pointis & solligative property. Jusiify it \\ o \
iy Give two characteristica-of erzyme catalyst. v. |Define hatilife period. Give m—f}7<> e&ampie‘ Ty
Vi Define homogeneous catalysis with an example.  vil. BV .poraﬁon uses cooling. Explain v@h reasnS) /
viii. Define Allotropy with an exanple. i x’i*e\l\cgyou mean by lattice e@y? Give-an exasple.
x.  Wite down two uses of chiot natography. xi.  Wiatis fluted filter paper>?> \_///
vl Write any two methods for Q i oraystals, : ¢
4, Write short answers of /ény six partg from e foilowmg:\ \ /-"/ A~ \ (6x2=12)
i Justify that = bond are fnore diffused han-sigma bond. L d 3 \ //
i \Write the Lewis structurgs for the following cora ound: i) N, 05-\i9ﬂ3F/'04 ‘
il Whatis bond order? Cal xﬁte band order fyr Hy| molecule
iv.  Why thange of temperature disturbs both thé equilibrium si%%and {he equilibrium constant of a reaction.
v, tis common ion effect? Give one example. |- { (What ) PH and POH?
vil. SHE acts as anodg when connected with Cu glestfode but as/ea/tiwde with Zn electrode. Give reason.
viil \Q@a\m the oxidaﬁﬁn\numhers of the elements underliped. 1) NaaP 08 ) 1) HNO;
ix. Define electrade potenti\ai\ y
SECTION-I
Note Attempt any three uestions. stion carries equal marks: ' (Bx3=24)
5.(a) Define stoichiometry. Sivs its aselmption and mention taws obeyed during stoichiometric calculation. 4
(b) Calculate the number oflajetfis in 20¢m® of CH, al 0°C and pressure of 700 mm of Hg. 4
6.(a) Define boiling point. Whaltfé the effect of external pressure on boiling point? Give two exarples. 4
(b) Explain the Born-Haber cycie fo caloulate the Jattice energy of sodium chioride. 4
7.(a) How neutron was discovered? Explain with the help of an experiment also write four properties of neutron. 4
(o) The equilibrium constant for the reaction between acetic acid and ethyl alcohol is 4.0. A mixture of 3 moles of 4
acetic acid and one mole C,HsOH is allowed to come to equilibrium. Calculate the amount of ethyl acetate at
equilibrium state in no of moles and grams. Also calculate mass of reactants left behind.
8.(a) Define ionization energy, aamme the factors influencing the ionization energies of elements. What is a trend of 4
ionization energy in the periodic table.
(b) Whatis meant by Lead Accumulator explain it in detall, Give chemical equations of discharging and recharging. 4
9.(a) Differentiate between ideal and Non ideal solutions. 1x4=4
(b) Discusss how surface aree and nature of reactants agfiif:};i?e of a chemical reaction. 2424
3
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1.1
2

10.

The PH of tomato is: (A) 12 (B) 4.2 (C) 7.2 (9] 9.2
For which system does the equilibrium constant K¢ has unit of {(Concentration)™1?

(A} Ny +3H, = 2NH, (B) Hy+ 1, = 2H  (C) ZNO, = NoQ, (D) 2HE = 8, 4 F;
18 g glucose is dissolved in 80y of water. The relative lowering of vapor pressure is %m%\\

(A) Ye ®) 5.1 (© Yoy \f{ 6

The oxidation number of chroniurm in K, Cr, 0, is: \
(A) 4 (B) 2 o 3 6 \ D N3
rd ?

Stronger is the oxadizing ageni greater is the:

{(A) Oxidation potential ~ (B) Reductior th {C) Redox poteniial /LB')/ EMF\Q( cell
A ¥
The unit of rate constant is the ;ame as that of #i¢ rate of reacfion\n: v // \r /\
(A) Firstorder reaction  (B)  Secondorder regefion  (C) ZeXo order reactic‘.{ /(13) Third Wfder reaction

The largest number of molecule s are prasent in’

(A) 3690/ H,0  /NBY ) 48gof CyH0H  (C) Y of CO ) 5.8 gof N,O, |
One mole of S0, containsy \\\ .
(A)  6.02 x 1023atgés iB) NB.I X 1G4 (€) 6.02: \ 0%°gtomsof (D) 4 grams atoms of S0,
of oxygen/, s molequles of SO, s&phur
The rate Qf filtration can be increased by using: \ v
\Desmator (3) \ Suction ﬂa§4& ) Cold finger D) Chromatographic tank

! rch of the fono\wmg will have the same no\\fmolecules L S]
(K ™12 dm? ahq (3) 280 cm®oR(0, and 7(C) 44 gof CO, and (DY  280gofN,and

)Z\Q\Of 0, \ 280cm?® :f%'z( 11.2 dm® of oxygen 5.6 dm?® of oxygen
Normal humal\ﬂs\dy tempera :: is: & /
") 3700 (i 986 (©) 379k (D) 273K
Which of the following is apseud: W/ y CaF, (B)  Glass (C)  NaCl (D) NaOH
Hydrogen bonding is maximupm ir# (A) Hi (B s (C) HCI (D) HF
The velocity of photon is: i
" Independent of its €) Depends on its wave ©) Equal fo squ.a-re of its 0) Depends on its

wave length length amplitude source.

Which of the following molecule have zero dipole moment;
(A) NH, (B CHCI, () H.0 D) BF,
Calories is equal to: (A) 0.4184 J () 41,84 ) () 4.184 J @) 41844
Spontaneous reactions are: )
(A) Reversible (B Irreversible ) No irreversible (D)  None of these
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2. Virite short answers of any eight parts from the following: (B8x2=16)
[, Enlist different methods fot“s@;)mtion of Isolopes, i, What is meant by internal energy?

il Give the contribution of J Berzelivs towards chemmisty. v, Distinguish between diffusion and effusion of gases.
v.  State Chale's law also wrile its nathematical formuia. vi.  Enlist two characteristics of plasma.

vil.  State Heisenberg's uncertainty arinciple and give its formula. — vill.  Define syfem with an example.

ix. Define Pauli's exclusion princip!z. Give an example. ¥, Whatis therryo cher‘rﬂs\try?
1. Calculate the mass of efectrons fromn the value of charge and efm. \\\
%, How molecular fons one generzied? Name methods of generative. K\\ \ i
3. Wiite short answars of any eight parts froni the | oiiow i \\\ e \ (8x216)
i Define solution give an example. & i Whd s ppm? Giva it Hathema al formula, <
fi.  Define colligative propertie;, of colutions. ra d v, ,W:af I meant by autg dat fys% VAN >
v.  What are enzymes? Give an example. \ A rm\‘t{at‘\dmay is X\vd ys 8, m/ order re\awon Why?
vil.  State partition law. N/ vil Defineparttion dlrofmtogm/phy
. How crystals can be decolo,lxe(i'? \} X HFis WG*\BQ\P»\@\I@ than HCi. Why?
. Ligfine polymorphisny. C:lv an fxample i, lonic cryst talg JTL\QWJHV brittle. Why?
4, Write short answers 7/ any skt partsfrom thefoliowing: \/\) (6x2=12)
i, Write two points of Vaignce 5%“éLkLle(,tmn Al Re puisiontheory (VSEPR)

i Whyt e\k@e pairs of electrons on ah\atom mnup\f\more spaca?

i, Du‘ e bond o?del Give one example, \ *\\\G statement of Lechatiier's principle.

v, DéfmepH with wﬁf\@auml expression. N /ﬁ; is cormmppron effect? Give two examples,
vil. fr{apare ‘Culgan be pu?rﬁeo by electrolyiic pmc,e>
vill. A porous plate\w br%em not required lﬁ’T’Jﬂ@ storage cell.

ix. SHE acls as anode when connectéﬂ\xm%ﬁe ‘Cu" electrode bt as eathods with “Zn” electods,

SECTION-I

Note  Attempt any three qumt'/ ﬁéﬁ/a‘iach question carries equal marks: (8x3=24)
5 (a)  Write down the steps invglved for the determination of emphirical formula, 4

(b) 250 cm® of sample of hydroger: effuses four times as tapidly as an unknown gas. Galculate molar mass of
unknown gas. !

6.(a) Explain following types of Inter Molecular forces at least with one example each:

(il Dipole-Dipole forces (i} Dipole ~Induced Dipole forces 2+2
{b)  Fxplain Born-Haber cycle in detail: 4
7.(a)  Give four defects of Bohr's atoinic model 1x4=4
(b)  The solubility of P, F, at 25° is 0.64 gdm™*. Calculate Ksp of P, £, (At mass of Py = 207, F = 19) 4
B.(a) Explain atomic orbital hybridizetion with reference lo the structure of €1, end 0 H, 22
() Write comprehensive note on 13ad accumultator with its discharging and recharging process, 242
9.(a) Give three staternents of Roult's law with equations. 4
4

(b) How order of reaction is measured using half-life method and method of large: excess?




